

580 Nr. 7

$$a) \quad 2^x + 3 = 2^{x+1}$$

$$2^x + 3 = 2^x \cdot 2^1 \quad | - 2^x$$

$$3 = 2^x \quad | \log$$

$$\log(3) = \log(2^x)$$

$$\log(3) = x \cdot \log(2)$$

$$\frac{\log(3)}{\log(2)} = x \approx 1,585$$

---

$$b.) \quad 7 \cdot 2^x = 13 \cdot 3^x \quad | \cdot \frac{1}{7 \cdot 3^x}$$

$$\frac{2^x}{3^x} = \frac{13}{7}$$

$$\left(\frac{2}{3}\right)^x = \frac{13}{7}$$

$$x \log\left(\frac{2}{3}\right) = \log\left(\frac{13}{7}\right) \Rightarrow x = \frac{\log\left(\frac{13}{7}\right)}{\log\left(\frac{2}{3}\right)} \approx -1,527$$

---

$$c) \quad 2^x + 2^{x+1} + 2^{x+2} = 3^x + 3^{x+1} + 3^{x+2}$$

$$2^x + 2^x \cdot 2^1 + 2^x \cdot 2^2 = 3^x + 3^x \cdot 3^1 + 3^x \cdot 3^2$$

$$1 \cdot 2^x + 2 \cdot 2^x + 4 \cdot 2^x = 1 \cdot 3^x + 3 \cdot 3^x + 9 \cdot 3^x$$

$$7 \cdot 2^x = 13 \cdot 3^x \quad | \cdot \frac{1}{7 \cdot 3^x}$$

$$\frac{2^x}{3^x} = \frac{13}{7}$$

$$\left(\frac{2}{3}\right)^x = \frac{13}{7}$$

$$x \log\left(\frac{2}{3}\right) = \log\left(\frac{13}{7}\right)$$

$$x = \frac{\log\left(\frac{13}{7}\right)}{\log\left(\frac{2}{3}\right)} \approx -1,527$$